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QUESTION 1

Which of the following is true if a report author nests members in a crosstab report? 

A. Nested members are also known as complex members. 

B. The inner membermust be on the level immediately below the outer member. 

C. Nested members must be members of hierarchies, not of the Measures folder. 

D. It is possible to nest members from different dimensions. 

Correct Answer: D 

 

QUESTION 2

Which of the following are dimensional objects? 

A. Sets and query calculation 

B. Query subject andrelationship cardinality 

C. Slicer and string function 

D. Level and member 

Correct Answer: B 

 

QUESTION 3

Which term below best describes the selected cell in the crosstab? 

A. Level 

B. member 

C. Tuple 

D. Revenue 

Correct Answer: C 
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QUESTION 4

A report author is working with an OLAP data source. The reportauthor creates a query that uses a caption function on a
member and applies a string function. 

What is a possible consequence of this action? 

A. Using these dimensional methods will not work with an OLAP data source. 

B. The mapped string values willnot pass through to the target report. 

C. There is nothing wrong with this approach. 

D. Mixing dimensional styles and relational styles in a single query can create unexpected results. 

Correct Answer: D 

 

 

QUESTION 5

When the report consumer drills through from a dimensional member to a relational data item, what data type is
passed? 

A. Category code 

B. Caption value 

C. Member unique name 

D. Business key 

Correct Answer: D 
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